(B_A):[brd!ﬂg]_[ﬂfbrctd}:[ﬂg}'
AAB=(A-B)U(B-A)=la,clUlf, g} = la,c, f, g).

COMPLEMENT OF A SET

Let U be the universal set and let A CU. Then, the complement of A, denoted by A" or
(U—-A), is definied as
={xel:x« A}.
Clearly, x€e A" © xe A.

EXAMPLE 14 IfU={1,2,3,4,5,6,7,8}and A=1{2,4,6,8), find (i) A" (ii) (A")".
SOLUTION  We have
(i) AA=U-A
=1{1,2,3,4,5,6,7,8}—12,4,6,8)=1{1, 3,5, 7}.
(i) (A" =U-A
{12345678}—{1357]—{24010?\4

EXAMPLE 15 Let N be the universal set.

(1) f A= {x: xENandﬁ %9\
(ii) If B= {Jﬂ,@m sible dh,e afd 5, find B'.

SOLUTION \}g
{x:x @5 not odd} = {x:x < N and x is even).

{11) B’ = {x:x € N, x is not divisible by 3 or x is not divisible by 5}.



